

1. Übung

a) Beschleunigte Bewegung

$$\ddot{x}(t) = -g e^{-\gamma t}$$

$$\dot{x}(t) = \frac{g}{\gamma} e^{-\gamma t} + v_0 = \int_{t_0}^t \ddot{x}(t') dt'$$

$$c_0 = -\frac{g}{\gamma}$$

~~$$x(t) = -\frac{g}{\gamma^2} e^{-\gamma t} + v_0 t + x_0$$~~

$$\dot{x}(t=0) = v_0$$

$$\dot{x}(t) = \int_{t_0}^t \ddot{x}(t') dt' = \frac{g}{\gamma} e^{-\gamma t} - \frac{g}{\gamma}$$

$$v_0 = 0$$

$$x_0 = 600 \text{ m}$$

$$x(t) = -\frac{g}{\gamma^2} e^{-\gamma t} - \frac{g}{\gamma} t + \frac{g}{\gamma^2}$$

$$\dot{x}(t=0) = 0 \rightarrow \dot{x}(t) = \int \ddot{x}(t') dt' = \frac{g}{\gamma} e^{-\gamma t} + c_1 = 0$$

$$\Rightarrow c_1 = -\frac{g}{\gamma}$$

$$x(t) = -\frac{g}{\gamma^2} e^{-\gamma t} - \frac{g}{\gamma} t + \frac{g}{\gamma^2} + 600 \text{ m}$$

a) Fallzeit:

$$x(t_F) = 0$$

Näherung

$$e^{-\gamma t_F} \approx 0$$

$$= -\frac{g}{\gamma} t_F + \frac{g}{\gamma^2} + 600 \text{ m}$$

$$\Leftrightarrow t_F = \frac{1}{\gamma} + 600 \text{ m} \cdot \frac{\gamma}{g} = \underline{\underline{6 \text{ s}}}$$

b) Anfahrtsdauer:

$$v(t) = \dot{x}(t) = \frac{g}{\gamma} e^{-\gamma t} - \frac{g}{\gamma} \approx \frac{g}{\gamma} e^{-\gamma t} \approx \frac{g}{\gamma} e^{-\gamma t_0}$$

c) 98% v. Geschw.

$$v(t_0) = 0,98 \cdot v(t_F) \approx 0,98 \cdot \frac{g}{\gamma}$$

$$= \frac{g}{\gamma} (1 - e^{-\gamma t_0})$$

$$\Rightarrow e^{-\gamma t_0} = 0,02$$

$$\gamma t_0 = \ln(50)$$

$$t_0 = \frac{1}{\gamma} \ln 50 = \underline{\underline{4 \text{ s}}}$$

2) Methode d. Variablenbestimmung

$$v_0$$

$$\ddot{v}(t) = \frac{d}{v^2(t)}$$

$$v(t=0) = R$$

$$\ddot{v}(t=0) = -g$$

a) BWGL

$$\ddot{v}(t) = \dot{v}(t) = \frac{d}{dt} v[v(t)]$$

$$= \frac{\partial v}{\partial v} \frac{dv}{dt} = \frac{1}{2} \frac{\partial v^2}{\partial v}$$

$$= \frac{d}{v^2(t)} = \frac{1}{2} \frac{\partial v^2}{\partial v} \quad x_1$$

$$d: \ddot{v}(t=0) = \frac{d}{v^2(t=0)} = -2$$

$$d = -gR^2$$

$$\frac{1}{2}(v^2 - v_0^2) = \int_R^v \frac{-gR^2}{v^2} dv$$

$$= \frac{gR^2}{v} - \frac{gR^2}{R}$$

$$\rightarrow v^2 = 2gR^2 \left(\frac{1}{v} - \frac{1}{R} \right) + v_0^2$$

$$\int_0^v \frac{d}{v^2(t)} dv = \frac{1}{2} \int_{v_0}^v dv^2$$

$$= \frac{1}{2}(v^2 - v_0^2)$$

$$\frac{1}{2}(v^2 - v_0^2) = \frac{gR^2}{v} - \frac{gR^2}{R}$$

$$x_2 \quad \frac{\partial v^2}{\partial v} = 2v \frac{\partial v}{\partial v}$$

b), c) Fluchttrajektorie

$$v^2(r \rightarrow \infty) = 0$$

$$v^2(t) = v^2[v(t)] = 0 = 2 \frac{gR^2}{v} - 2gR + v_0^2$$

$$c) \quad v^2(t) = 2g \frac{R^2}{v(t)}$$

$$\frac{dv}{dt} = \sqrt{2g} \frac{R}{\sqrt{v}}$$

$$\sqrt{v} dv = \sqrt{2g} R dt$$

$$\int_R^v \sqrt{v} dv = v^{3/2} - R^{3/2}$$

$$\int_0^t \sqrt{2g} R dt = \sqrt{2g} R (t - t_0)$$

$$v^{3/2} = \frac{3}{2} \sqrt{2g} R t + R^{3/2}$$

$$v(t) = \left[\frac{3}{2} \sqrt{2g} R t + R^{3/2} \right]^{2/3}$$

3. Harmonischer Oszillator

$$\ddot{x} + \omega^2 x = 0$$

Ansatz $e^{\lambda t} = x$

$$e^{\lambda t} \lambda^2 + \omega^2 e^{\lambda t} = 0$$

$$\lambda^2 + \omega^2 = 0 \Rightarrow \lambda_{1/2} = \pm i\omega$$

$$\lambda_1 = -i\omega, \quad \lambda_2 = i\omega$$

$$x_{1/2} = e^{\pm i\omega t}$$

$$\frac{d}{dt} (A e^{i\omega t} + B e^{-i\omega t}) = \omega^2 (A e^{i\omega t} + B e^{-i\omega t}) = 0 \quad \text{ist wahr}$$

⇒ ist auch Lösung

$$x(t=0) = x_0$$

$$x(t) = A e^{i\omega t} + B e^{-i\omega t}$$

$$v(t=0) = 0$$

$$x_0 = A + B$$

$$x_0 = 2A \Rightarrow A = \frac{x_0}{2} = B$$

$$\dot{x}(t) = i\omega A e^{i\omega t} + (-i\omega B e^{-i\omega t})$$

$$= v_0$$

$$= i\omega (A e^{i\omega t} - B e^{-i\omega t})$$

$$v(t=0) = i\omega (A - B) \Rightarrow A = B$$

$$x(t=0) \neq 0$$

$$A = \frac{v_0}{2i\omega}$$

inhomogener Fall

$$\ddot{x} + \omega^2 x = Lt$$

$$\ddot{x} + \omega^2 \left(x - \frac{c}{\omega^2 t} \right) = 0$$

$$\ddot{y} + \omega^2 y = 0$$

$$\rightarrow y_{inh} = e^{\lambda t} - \frac{c}{\omega^2 t}$$

$$\lambda = \pm i\omega$$

$$\ddot{x} + \omega^2 x = c t$$

$$x(t_0) = x_0$$

$$v(t_0) = v_0$$

$$t_0 = 0$$

$$x = A x_1^{(1)} + B x_2^{(1)} + x_3^{(1)}$$

partikuläre

$$x_3^{(1)} = \frac{c}{\omega^2} t$$